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X = # of successes in n trials
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1n eoned, P = prob. of success
3! q = 1-p = prob. of failure
n independent Bernoulli trials
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Hypergeometric Distribution
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(zeometric Distribution

Consider a sequence of Bernoulli trials

with prob. of success p on each trial
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Negative Binomial

X = # of trials until the r** success
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Note that this is not a negative binomial distribution. However, counting
the number of games until the 4th success for Team A or Team B is.
Combining these together creates a distribution from 4 to 7 games. Try
adding up the probabilities! You will find it sums to 1!
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This distribution shows up in a lot of places. In particular, when we have
a Homogeneous Poisson Process being follows, the dist is Poisson
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Think of this one as N sided die. For example, if
N=6, then we have f(x)=1/6. The mean is

E(X)=(6+1)/2=3.5 and

V(X) = (6"2-1)/12 = 35/12




